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Abstract about this document

This document describe about case study of Tree Survey problem for KX-UDS/UDT series.
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Before case study

As advice, we recommend making of Site MAP of CS.
As a merit, the maintenance after the running system becomes easy.
Such as confirmation of the call area or to solve radio signal trouble.

Procedure of making Site MAP
1. To prepare the Site MAP.
2. To write down the location of CS.
3. To write down the CS Index No. and MAC address.

(MAC address is written on the rear side of each CS.)
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Case study of Tree Survey Problem

Overview

This document describes solutions using concrete example about the
problem that occurred when you conduct Tree Survey.
Please refer to case study as follow.

|| Case Study ||

1. If error message is displayed “CS does not have Primary CS.”
=) Error !!! CS does not have Primary CS.

2. If you find a low radio signal level after successful of Tree Survey.
==) Low radio signal level after successful of Tree Survey.
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1. Error!!l CS does not have Primary CS.

1. If error message is displayed,
Error !l CS does not have Primary CS.

Note:
Tree Survey has two procedures.

1. CS Web

2. CS Maintenance Tool

If the Tree Survey will be conducted for 10 or more CSs,
please use the CS Maintenance Tool instead.
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1. Error!!! CS does not have Primary CS.

1.1)If error message “CS does not have Primary CS” was displayed, you should
conduct Tree Survey by CS Maintenance Tool. (You cannot solve it by CS Web.)

Panasonic Error!!! CS does not have Primary CS.
SIP CS KX-UDS124 Status Network System VoIP Telephone Maintenance C S 9 ] C S 2 2 *

Web Logout Tree Survey @ SIP G5 KX-UDS124 - Windows Infernet Explorar (=)

Tree Suvey Compiete ~ CliCk the Start Tree Survey

Results
Please click "OK' button

EXECUTION RESULT:
2.
ERROR!'!"! G5 does not have Primary G5 /:
C55

Cs22

Motice: Lo does nob have secondary Lo,

Administrator Password

User Password

{

&£
HEIE EE
: 1°

Web Server Settings
ime Setting
ime Adjust Settings

Air Settings 655
CS Management
Treesuny 0S6
S/ Mosion Index CS Name CS Class Status  Primary Secondary Level G”E
PS Registration MAC Address CSindex  CS Index G5B
— | o Wemw  ws - o ca
2 gg}gb%%ég?&3ﬁ 2nd Master v/ NS 1 1 ne17
3 Oaorororess | [S=e ¥] NS [ 2 L
SIP-CS4 —
4 Dosororosere  (SEe I NSt 2 !
1. Click [Start Tree Survey]. :
2. Please check the Error Result. You can find a ERROR
3. Click [OK]. Efriizm?é have Primary CS. N .
i ’ : ext page
4. Click [Ca_mc_el]. . . CS9 and CS22 does not have Primary CS. pag
After clicking Cancel, all CSs will restart automatically.
Supplement

- This is arare case. But after Site Survey the Radio signal condition might be changed by environmental change. In case of a radio signal
without a margin, it may happen.

- Even if CSregistration is successful, it may happen. If it can receive the radio signal, CS registration can be successful. (It's even
low radio sighal such as less than -80dBm.) But Tree Survey need the radio signal level more than -80dBm.
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1. Error!!! CS does not have Primary CS.

1.2)Please conduct Tree Survey by CS Maintenance Tool.
You can find a ERROR “CS does not have Primary CS.”

el -5 Maintensnce Tool (i Tree Survey Wizard B
Air Synchi €S Status Monitor Maintenance é is?g: ;'?Sﬁ) :'"Teéss:;yy?;bn cso‘h‘ecl <S¢ os o| ch".‘,m
A ? - r - =
3 - LA - L ng e J L H 9!\5 the[\esult of Tree survey, “Sync Master CS1° may change.
[ Tree Stuctre | : =+ g -
| CS Name €5 Cass Connecton OaL  |csi
Frimary CS Selormay =
Index CS Name CSID MAC CS Class Connection S: INS 0018E
Index C5 Name Index - NS 001gE
':} cs01) |O187OEDE | OOBOFOEFDSET _ Symo Master CS1 INS - = il
. o - : e
L{SIP-CS Maintenance Tool - oo
= NS ootgE
SP-CS Mainenance Tool | 2. Errorl!! CS does not have Prlmary CS. ; —————
& a
CS9,CS22 | e
IP Address 1921680103 v ] * |
7 e adrin ~] | T ) TOISRIIar0. [DOROFOFICIE. | S Save Cs = S 8 Cs018) [ St @ (Coes@ ]
Pasgward S—— csl24) 0197310F68 008OFOEFDS73 Sync Slave CS - INS 2 C5(22) B
WEOFOFIC BT Srmc SaveCS - ms | - B
|8 etz £8123) 0197311210 DOSOFOFICTS6 | Syne SlaveCS  ~ INS b Tree Survey Wezard \ [_J
T | = cstan) Gia7a10r78 00| GOBOFOEFDSTENN| Sinc SaveCS - NS < =
2. 2 Josiza) 01S7310F80 O0BOFOEFDI76 | Sync SaveCS INS
1 cs(14) | BiS7aii0E0 0| BOBGFORIC AN Simc SeveCs - INS
Configure PC with |P address and Subnet. _m\s?l cs(g) 0197310EC8 0080FOEFDISF Sync Slave CS - INS
Click Mexd ta cannect to the device. 7 Cs(7) | 01973110C8 [MIHCHD ‘ Sync Slave CS - INS F i n i S h
5 ) csim) 0187311228 00SOFOFICTES | ScSlaveCS = INS
3 csta) | 017310800 | posoF0EFDEES | SymcSvecs - INS Plaase click *Finish'" button.
(. 4 cs(4) 0197310ECO DOBOFOEFDY5E | Sync Slave CS - INS I
3 | csta) | ois7ai220° | bosoFoFicTse | simc SaveCs - INS
12 Jesud 0197310ED0 | DDBOFOEFDI60 | Sy SleveCS = INS [EXECUTION RESULT: | -
BT | ST WROSCTER 5r- s=v-c5 - | INRSH| ERRORN CS does not have Primary C5.
( 11 ~al1) maTinesn ANBNAENECNHALY C.n—\»wtla.anft - (Y3 ng E
— I C522
ooy &) Cancel ©) | 35
C5E
[ C57
cs8
510 i
rei1
4 [,
1. Start CS Maintenance Tool.
2. Enter following, and click [Next].
. ]
IP Address: IP address of Master CS J 4.
User name: admin | Firish [F] I Closs(C) |

Password: adminpass
3. Click [Tree Survey], “Tree Survey Wizard” is displayed, then click [Start].
4. After “Finish” is displayed, you can find a Error. Then click [Finish] button. |:> Next page
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1. Error!!l CS does not have Primary CS.

1.3)From this page, you can check the concrete situation of CS.

*The page before one, The error message was displayed “CS does not have PrimaryCS.”(CS9,CS22)

And you cannot find the CS9 and CS22 in this Tree Structure.

© Panasonic Corporation 2013

There are not CS9
and CS22 in this
Tree structure.

B e o - - o -

t2.] SIP-CS Maintenance Tool = B |-
Bir Synchronization | G5 Status Monitor Maintenance |
Air Sync Group Mo, | ) ]
' : _ @ Primary [ Logout || & &
[ Result | | Tabls | Adjacency Status Primary + Secondary
Primary CS
Lewvel 1 Level 2 Level 3 Level 4 Level 5 Level & Level 7 Level 8
o7
\ o)
==l )]
oS
| oooa ]
C5013)
C5015)
[_c0
csas |
‘*-l CS020)
CSi19)
I CE(24)
EE
| Apply (A) | Gancsl (C)

Next page




1. Error!!l CS does not have Primary CS.

1.4)This page describes how to complete Tree Survey.
Please click Apply to complete the Tree Survey.

fo{ SIP-CS Maintenance Tool o B |
Bir Synchronization | GS Status Monitor ] Maintenance |

Air Syne Group No. | = ) )
@ Primary | Llogout || &2 r;Ln

Primary + Secondary

: Result L Table Adjacency Stelus:

Primary CS - N
Level 1 Level 2 Level § Level & Level 7 Leve ¢ | fal SIP-CS Maintenance Tool S5

9303

Level 3 Level 4
l If Tree Survey has been started, svstem is reset.
Do wou want to apply the changes 7
I [ [aTu)} l| Gancel (G |
AN N
N\ A\

d \ﬁ?,_

GS(7) i
SF\:S Maintenance ... (e

\ 056
oS0
I =D l\ oS0l
l CS013) I
CE015)

[ _cso )

csae |

\\l 5020
I s

cE09)

Gancel (C)

1. Tree Survey Results is displayed.
2. Click [Apply].
3. Click [OK] and click [OK].

= After clicking OK, all CSs will restart automatically.
 After restart, Tree Survey is completed. Next page
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1. Error!!! CS does not have Primary CS.

1.5)This page describes how to check the radio signal condition by CS Status

Monitor.

*You can confirm that CS9 and CS22 doesn’t have radio signal because of out of synchronization.

*This is a cause of error “CS does not have Primary CS.”

—
{1 SIP-CS Maintenance Tool 1. o] @ 3]
Air Synchronization CS Status Monitor[1] Maintenance |
Bir Syne Group Mo |1 ™ Capture Browse (B)
Logout
Interval Timer (s) 5 - [ Stop\\ [ Tree Structure ]
=
3 3 . Current Sync C5 i
Index CS Name ] . C5Class &
Error \wired Cs/
[dB] Rate LAN EFh= Repeater Elluz El F

lililililililili
Elilili Smo SaveCs
lililililililili
“lilili Smo devCs
lililililililili
Elilili SmoSeveCs
lililililililili
i B e GF o seseecs
lililililililili
C o Joooo N vy s (0509 0umiom | SneSecs
L e oo eem o o Jowen |
——-.—_———— Smo SavCs
T R =S| NN W

lililililililil—

oo N N - | Co0 | |0omieo | spcsmecs

lililililililili

s | WO OKM vy S o) owmemT | Snoewcs

lilililililil—

lilililili = —(r |

o coo) e U NN s s o0 USEUEC | Smosawcs

IlilililiE [ .
T Pmay s los® 0GRS | SneSwcs

4 LI

After restart the CS,
you should click
below.

1)CS Status Monitor.
2)Update.
3)Start ,then Stop.

4

\/

*You can find that
CS9, CS22 has
no radio signal.
Because It’s out
of Synchronization.

*This is a cause of
error ’CS9,CS22
does not have
primary CS.”
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1. Error!!! CS does not have Primary CS.

1.6)This page describes how to make the Site MAP.

Please write down the each CS RSSI value and Primary or Secondary Path from CS Status Monitor.

*You can find where is a trouble layout such as out of synchronization. (CS9 and CS22)
Index 15

Index 3 Index 2 Index 8 Index 16 Index 20
0080FOF1C729 0080FOEFDBE6  |gey 1 0080F051C72‘|3 tox 11 0080FOF1C758 O0080FOF1C78D 0080FQF1C792
Index 14 Index 5 0080FOEFD961 naex
X 0080FOF1C72A  0080FOF1C759 *, . O0BOFOEFDOG2 [ deX?3 oo % Index18
. MAC address | : %, 0080FOF1C791}

- H = T|I ) 8 ..
@ [ — - e ]
@ /@ (-60) o« \

[ 11 o =1
S @ o>
. — In /| — @ : '
Inde;:( 7 Index 4 ol — -58 V4
0080FOF1C72D  0080FOEFD95E A 122
00BOFOFLCT2C @ B A ,5-
. 1lel) / 10f  jndex i2 — =/
MAP of Site or Floor / 0080FOEFD960 oo
,—/4 Indea‘é 6 Index 19 0080FOEFD976
Out of Synchronization Indexfg OOSOFOEFP%SF io ndex 23 i/ OO080OFOEFD974 Index 24 -
0080FOF1C757 00BOFOF1C755  008OFOF1C756 Index 21 0080FOEFD973
0080FOEFD975
RSSI (dBm) You need to adjust the tree structure
| Primary Path to solve the out of synchronization of
CS9 and CS22.
D Secondary Path
1
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1. Error!!! CS does not have Primary CS.

1.7)From this page, we describe how to find the primary CS for CS9 and CS22

by using the tool. (The tool need the data (aseScriptfile) of CS Maintenance Tool.)
-The tool (aseScriptAnalys) can confirm all of the radio signal even it’s out of synchronization.
*You can check which CS is the highest radio signal level for CS9 and CS22.

1st step:Please prepare to get the aseScriptFile from the folder of CS Maintenance Tool.

Under the Login Account (The case of Windows XP)
C:¥Documents and Settings¥[Windows Login Account]¥Local Settings¥Application Data
¥Panasonic¥CS Maintenance Tool

@ CS Maintenance Tool

NE BEE BT BRANQ V=D ALTH o
Qs - 3| Dux o | EE- Windows XP
@'s and Settings¥1832879 PCG-AD¥Local SettingsVApplication Data¥Panasonic¥CS Maintenance Tool v B 8
. W CZEaE T Einge
IrA NEIFNEDRAD =loe 774N FENE 2012/06/03 2036
5 CSMantenanceToolAppDBdb3 12KB DB3 7714 2012/06/03 2050
Ok 2 n Has o 16 KB FH¥Ak FFaivh 2012/06/03 2027
1KB FXARKE 2012/05/03 2027
o) Pana MBI e 1KB FXAMLR 2012/05/08 2027
_) 14 1
j N1 62— . .
Y Under the Login Account (The case of Windows 7)

C:¥User¥[Windows Login Account]¥AppData¥Local¥Panasonic¥CS Maintenance Tool

|

aseScriptFile.txt

© Panasonic Corporation 2013

. .
\ Windows 7 =
@uﬂ WC:Users¥1:34882¥AppData¥Local¥Panasonic¥Cs Maintenance Tool v |43 |[ Cs Maintenance Toolmiz= ol
EIE - S-S UICiEN HE - SzAD FLWhIAILAS— =~ [ @
drvrtmp B i SHOE == AR
DS-2
Log 2013/03/07 11:13  J7AIL T#

Intel ASEHistory.log 2013/03/07 11:10  FFR b F¥a 8 KB
MSOCache aseScriptFile.txt 2013/03/07 11:10 TR FFz 1 KB
OBL || CSMaintenanceToolAppDE.db3 2013/03/07 11:10 DB3 ZF -l 12 KB
oCcC || csMonitorData. bt 2013/03/07 11:10 FHA M FFa 1 KB Next page
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1. Error!!! CS does not have Primary CS.

2nd step:Please prepare to set the aseScriptFile and AseScriptAnalyze Macro.

*You can download the AseScriptAnalyze on the following web.
http://panasonic.net/pcc/support/sipphone/technic/UD/index.html

*And please put it in you local PC.

v . . . . l (=) ‘&J
@uv! C:¥AseScript] "‘7‘! Asesc i i
e SAJSUCEMY HEv S2A8 FLLIALS-— v 0 @
~ ZE ’ =50 = YA
= =1
J-d77477J &) AseScriptAnalyze.xls 2013/02/05 9:25 rosoft Exce 284
& RFaxrh _| || aseScriptFile.txt 2013/01/18 10:41  FFA b Ko 1
& EOFv
= =
& S1—SwH

M O3 —-45—
& O-7L F14R% (C)
AseScript
BECky! - < i

2 BOEE

JP.':

1) Please copy and paste the aseScriptFile.txt from the CS Maintenance Tool folder.
2) Then click the AseScriptAnalyze.xls for analyzing the radio signal condition. |:> Next page
13
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1. Error!!! CS does not have Primary CS.

3rd step :Please input the radio signal condition data to AseScriptAnalyze.xls
from aseScrlptFlle

1)Please click the Input Data button.

5] Mlcr‘osof‘t Excel AseScriptAnalyze. x\s o o - ' = -
:IE_] Ir-fILE) |EE) FRN) BAQ SRE0O) YILI) F-4[D) TarBEIW) ~LF(H) ANzl
IAN=A" REWEIN= RNl A AN - R ) |2 = "hllﬁﬂlﬂﬂ% T @gins PIzuy § s|Brul=E=
' - = 2 = - -
Select aseScriptFile - I . Lli:_hj Y =N el ST O leﬁv‘-‘lklﬁ AR GH
274 IDITFR(D: AseScript - [ i vw=D -
e ] O | @ ¢ =00 I v W o [f ol % T 5 T 1=
ZEl EFHE =23 HAZ b RSSI _ CSNameZB7—JIl
| P— ) {Index| C¥1F 205 Name® 5240
3 ol asescriptFile.txt r E
%ﬁ?ﬁhh ,#VALUE Inclex G5 _Narne — - Please push Input Data and
2 . ’#VALUB 1 R select the aseScriptFile txt
'#VALUE 2 2 far analyzing radio signal
_.! # AL —T 253 condition.
FAObyT || _——7EUE 4 054
H . / :#VALUE 5 CS5 = If you want to change the
. 2)Please select aseScriptFile.txt. THvALUB 5 cs6 data, you shouid push
1 P 'j,\ 8 ,#VALUE 7 057 Input Data again and select
Ax . #ALUER =] ]
3)then click open. “evarue | o Ca e rev cae
1A "#vaLUR 10 GS10
e T HvALUB 11 CS11
<1 JuEa-4 -
i i Eea == :] FAs(Q) I
- P LDAEER(T: | A TP Ik )

After click the open, radio signal data is indicated automatically.

58] Microsoft Excel - AseScriptAnalyze.xls - - -
E] TrOUE BEE FRV) BAD BR0) YoMT) F-H0) F42FEIW) ALT(H) T
RN~ NEWE NI NN A =N R A (@ = - 4] %I | [k [33] 100% @ Wl iMs PIws v 1 ~|B 7 U|
H Y o= el e I OM= = == AlEllsE
Q25 - #
A B | c I F G | I T 0 KL ] MmN o [ p [ @ R [ s T >
1 | ldebug (1 Index  CS Name Index  CS Name RSSI CSNameZB7 —J Il \
2 test 1 {ndex| C#F 208 Mame@ iR L
3 | |os 100111000010000 1 oS o Index 0S Name E— Please push Input Data ard ]|
4 lsa 10002 -62 2 os2 -6z 1 Cs1 select the aseS criptFile txt
5 | lsa 1000367 3 cs3 -67 2 o2 far analyzing radio signal
6 | |lsa 10004 -62 4 0S4 -62 3 ces condition.
7 | llsa 1000577 5 0ss -77 4 o34
8 | llsa 1000678 6 0S6 -78 5 035 -If you want to change the
] lsa 10007 -79 7 cs7 =78 3 CE6 data, vou should push
10 | lIsa 1000878 ] css -78 7 oar Input Data again and select
11 | liea 100010 -85 10 0810 -85 F) oS8 the new data,
12 | [iea 100011 -83 11 oS11 -53 5 o398
13 | |lsa 100013 57 13 cs1z [ 10 G510
14 | |os 100021000010000\ 2 0s2 0 11 0S11 / NeXt page
4
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1. Error!!! CS does not have Primary CS.
4th step:Please confirm the radio signal condition by AseScripAnalyze.

|| Microsoft Excel - AseScriptAnalyze.xls - - I S e i
] IruE) REE BV BAD BRQ) YoMD F-5D) DrEIW) ALTE) JuteEE *
ARNEA" NEWETI= RES A - SR REEN:- A 2 = -4 &) [ap]roo% r@flivs pIzvs 71 -|B 7 U
M E| M ae BB S ARKE
Q25 - %
A B | D Il F 1 e [ w [ 1 [ o KW ] ¥ WM o [ p [ e | =» | s [ 1T —

1 debug 1 _Index CS Name Index CS Name RSSI CSName ZBEF—J )1

2 test 1 (Index| 7T BCS Name® 50 M) L

3 | les 100111000010000 1 oSt 0™~ [ Index | 0S5 Mems | P [ Piesse push Input Data ard ]|

4 Isa 1000262 2 Cs . . . the aseScriptFile txt

5 | lea 1000367 3 cg3l There are all CSs that can receive aradio signal.  uzing radio sigral

6 | lsa 10004 -62 4 (ok:1 . L fon

s 10005 37 = |o=s] You can confirm the radio signal

g :sa 1 8883732 g Feo that is even out of synchronization in want to changs the

s2 - H bou should push

10| ke 10008 -78 s |oss| CS Status Monitor. bt agin and sckect

11 | llea 100010-65 10 bz d = T T : T cal

12 | llea 100011 -83 11 511 -83 3 can | I

13 | |lsa 100013 -97 1a—"cs1a [ 10 .

14 | os 100021000010000 2 @ 0 1 The primary CS of CS2 is CS1.

15 | lsa 10001 -A2 1 S62) d—r>—| . .

o 10003 77 . == = Because CSlis the highest RSSI value.

17 | llea 10004 -75 4 co4 -75 14 =T T

18 | lsa 1000580 5 cas -0 15 Lol |

19 | llsa 10006-75 i CI6 -75 P :

70| i 10007 -1 ; it 51 (] Therg are all radio signal values which can

21 | s 10008 -76 g css =36 [ | receive (RSSI value).

22 | llea 100011 =77 11 oS -77

23 | llea 10001379 13 CS13 75 20 520

24 | |isa 100016 -87 16 ocsie (N 21 0s21

25 | cs 100031000010000 a csa o T e ) [ 1

26 | lea 10001 -67 1 lol:0) -67 23 CEoa

27 | llea 10002 -75 2 caz -75 24 C524

28 | lsa 1000474 4 (ol —74 25 £S25

29 | llsa 10005 -7 5 05 76 26 CSo6

30 | lea 10006 -79 é co6 -75 27 0587

31 | lea 10008 -81 & cag 81 28 CEoE

3z | lea 100010-93 10 CS10 28 Csen

33 | lea 100011 60 11 CS11 —80 a0 £530

34 | |lsa 100017 -850 17 cs17 (e 31 0S31

35 | cs 100041000010000 4 Cs4 o a2 o)

36 | lsa 10001 -62 1 lol:0) -2

37 lza 1000275 2 52 =75 Radio signal condition

a6 | |lsa 1000374 g oad —74 Condition [LED __|RSST Value

3 | lsa 1000575 5 Cas -7 Sood 80 Less than

40 | llsa 10008677 & Ca6 77 Not go0d 0 |ereon

41 | llsa 1000774 7 oa7 75 —fifi

42 | |iea 100089 -93 5 038 [ -e3 Bad B - [vore then il
W4 W[y How to e ), Arahze | « " ([
| BEOBER)- [ [ A-bs 4 FU)- \ N\ O & [E 4 & 6 @] & - - ST A AHL M R

J7uF _ HLIM N

—_— ext page
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1. Error!!l CS does not have Primary CS.
5th step:Please confirm the radio signal condition about the CS9 and CS22.

And confirm which is a primary CS that is the highest radio signal level.

The highest radio signal.

afa] (= 100016 —851 16 CS16 —81/
a7 (=] 100059100001 0000 G 0
ga (= 10004 83 4
(afs) (= 10005 83 ] -5 There are CSs that can
=18 l=a 10006 -85 o —A5 receive a radio signal.
91 (== 1 00010-30 0 —30
Gz (=] 100010100001 0000 10 0
The primary CS of CS9is CS4 in order to the radio signal level.
156 | |l=a 100018 62 18 =13 —GZ
157 | |os 100029100001 0000 21 CE21 0]
158 =] 100015 —58 19 514 -5 The highest radio signa_|_
159 | |l=a 100023 -83 —33
160 |cs 100022100001 0000 22
161 l=a 100015 —83 }There are|/CSs that can
162 | |lsa 100021 -85 —G5 receive a radio signal.

The primary CS of C22is CS19in order to the radio signal level.

It seems primary CS of CS9 is CS4. But you can confirm the radio signal sending from
CS4 which is adjoining CS9 is low level (-83dBm).

It seems primary CS of CS22 is CS19. But you can confirm the radio signal
sending from CS19 which is adjoining CS22 is low level (-83dBm).

The low radio signal from adjoined CS is a cause of error
“CS does not have Primary CS.”

Next page
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1. Error!!! CS does not have Primary CS.

6th step:Please write down the RSSI value of CS9 and CS22.
And consider about how to move the CS9 and CS22.

Index 15

Index 3

Index 2

Index 8 Index 16 Index 20
0080FOF1C729 0080FOEFDBE6  |ey 1 0080F051C72‘|3 dox 11 0080FOF1C758 O0080FOF1C78D 0080FQF1C792
Index 14 Index 5 0080FOEFD961 naex
X 0080FOFLC72A  0080FOFIC759  *, s, 0080FOEFD962 e A3 C7gE % Index 18
. _MAC address ! : y, 00BOFOF1C791
15 -67 Tl -62 . R
(70 < @ >® 8 (-65) |18 o
i 70 < i > @_Q .
o 14 ~— 7 = ———e_ ] 9
® - 78 / 62 ® \ |
. & o] @)
- . IS¢ — '
| » o .
. — — [ /| “ @ y _’l -
17 o 12 2 |
] __ 6 " | = 83 24
; - ; ~ T
Index 7 Index4 .- ~ d
0080F0OF1C72D OO80FOEFD95E @— | 22
Index 17 X @
0080FOF1C72C @ ; T~
) Al 9 100 jndexi2
MAP of Site or Floor / 00B0FOEFD960 ndix 22
0080FOEFD976 :
= Tndex 6 7 Tndex 19
Out of Synchronization 0080FOEFDY5F ‘' 0080FOEFD974 Index 24 °
Index 9 Index 10 Index 23 0080FOEFD973
0080FOF1C757 0080FOF1C755  0080FOF1C756 Index 21
0080FOEFD975
RSSI (dBm)

Please consider about how to move

«——— Primary Path CS9 and CS22.

............ Secondary Path

Example) « = =
CS Index Pe u
At this MAP, you can check the radio signal condition that both of CS9 and J\/L
CS22 radio signals from adjoined CSs (CS4 and CS19) are low levels. Next page
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1. Error!!! CS does not have Primary CS.

7th step:Please move the CS9 and CS22.

Index 15 Index 3 Index 2 Ind
Index 8 ndex 16 Index 20
0Q80FOF1C729 0080FQEFDSE6  |gey 1 0080F051C72‘|3 tox 11 0080FOF1C758 ~ 0080FOF1C78D 0080FQF1C792
Index 14 Index 5 0080FOEFD961 =  dex '.
\ 0080FOF1C72A  0080FOF1C759 ., 00BOFOEFD962 Index 13 Jc7gE % Index18
: _MAC address ; : d : :

. H 0080FOF1C791
2

15 H 67 Tl -62)- s 0
‘v\.\ 14 /.I o =

~
g

60} :
* @& /@ @' | .
G ] NT—@ /| " @«®
17 I:I A o 12
H 6 :
: index 4
Ion(?ge(;(pgplcﬂzD OnOSeOXFOEFDQSE “_.
Index 17 9
0080FOF1C72C ‘ /i ;
dul 10
. 19, : Index 12 : .
MAP of Site or Floor 4 == [ OO08OFOEFD960 Index 22 :
0080FOEFDI76 ;
Index6 ] / Index 19
A OOSOFOEFIII)%SF i e 23;' 0080FOEFD974 | Index 24
0080FOF1C757 onose(;(FOFlc755 0080FOF1C756 Index 21 O080FOEFDIY3
0080FOEFD975
RSSI (dBm)
. Please move the CS9 and CS22.
«——— Primary Path
............ After moving these CSs, you need to
« Secondary Path 9 y

conduct the Tree Survey again.
CS Index ﬂ

Next page
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1. Error!!l CS does not have Primary CS.

8th step:Please conduct Tree Survey again for adjusting tree structure.

MS]P CS Maintenance Tool = @ @
CS Status Monitor | Maintenance [
Air Syrc Growp No. |1 ] p . =
Air Syne Group No 1 —— o I
- = o
N i
d cs| 2 €S 1D MAC cscl C e Seconcen g i X]
Index I A 353 onnection » 2
Index CS Name Index CS N 3 RS R ey it e
3 \Start” button “Tree Survey” Service is stopped)
:] g8l 0197310EDS D020FOEFDS61 | Sync MasterCS1 - INS : :
f of Tree survey, “Sync Master GS1° may change.
|est@ | 6157311088 | 0080FOFIC728) | simc Master C52 wns | 1 |esti [ I o - s
18 C5(18) 1] Tree Survey Wizard HLJ 3(18) - i L
19 csi1g) 1 5016} I o0
|[- - Execution OK. E— e —
L 17 J| G8( 3014] ! 5 i
15 'csus) i14) [ = :&; m:u
= - - N pr— - v
C5(186) FInISh 3013) B NS @] 0018E
1(5(20) Please click "Finish” button 5018) ',v
. >
24 cS(24) — 5(22)
| Y [ cs(a) EXECUTION RESULTJf 3. T i —
( 23 C5023 | Execution 0K, [
21 IGS{?_I} ] l
. (| Motice: CS does not have Secondary C5. . (—
cs 55 3(21)
C56
lcsm} cs7 37
58 - fr—
( 6 s Cl Csi0 il 304
- rod B -
f | : s . You can confirm a
I 5 | €8s 304 .
3 [ csta) 301 | 4 DOBOFOEFC Execution OK.
[ 4 | csi4 3(1)
[ 2 | csta )Z o | § DO0FOEFC T S
sl 3(8) ree survey was
L 12 S [ Finish(F) | [ Closeicy | I 5 = oL s y
13 I(ﬁ“s} 3(8} | Successful
[ 11 CTAR! T = TS R T = [ g o -
Ll n 13
- 'I'1 (All of CS has
[ hoob® | [Cancel©) | Prlmary CS)

1. Click [Air Synchronization].

2. Click [Tree Survey], “Tree Survey Wizard” is displayed, then click [Start].
3. After “Finish” is displayed, you can see a Execution OK. Then click [Finish] button.
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1. Error!!l CS does not have Primary CS.
9th step:You should click Apply to complete the Tree Survey.

‘ oSy

(== gp]

=]

\ o5

[ csna ] £s2)
C5013)
CS0E)

=g

%) SIP-CS Maintenance Tool = @ ==
Air Synchronization | CS Status Monitar I Maintenance ‘
Air Sync Group Mo, | )|
- y § @ Primar y Logout ;
| Result J L Table Adjacency Status | P ry + Secondary
Primary CS
Level 1 Level 2 Level 3 Level 4 Level 5 Level & Level 7 Level

\ ] Cs24)

{2 sIP-CS Maintenance Tool

9303

l If Tree Survey has been started, system is reset.

Do wou want to apply the changes 7

I [ 0K (0} l | Gancel (G |
/ ANEA N
NN

=

. Tree Survey Results is displayed.
. Click [Apply].
3. Click [OK] and click [OK].

N

After clicking OK, all CSs will restart automatically.

 After restart, Tree Survey is completed.

© Panasonic Corporation 2013
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1. Error!!! CS does not have Primary CS.
10th step:You can confirm all of CS has a good radio signal condition (Green).

'l sIP-CS Maintenance Tool
Air Synchronization

CS Status Monitor[1]

Air Sync Group No. |-I 'l [] Capture

e )[R ][ 3]
Interval Timer (s) |5 ‘| X ]
: N

Tree Sthdureq\(Af'[er checking the CS Status Monitor ,please click Tree Stfu

[ Browse (B) |

N 3 -
3 . Current Sync CS
Index CS Name . CSClass &
Resil— Errer Vifired cs/
[dBmi Rate LAN C5Type Repeater CS Name csib F

Sync Master ..

1 csi)

ﬁﬁliﬁﬁliﬁ
—ﬁﬁli S S s
ﬁﬁliﬁﬁliﬁ
ﬁ con | WO WO vy CS CS09 USRI SpoSewcs
ﬁﬁliﬁﬁliﬁ
—ﬁﬁli e SovCS
ﬁﬁlﬁﬁﬁlﬁﬁ

Cs(8)

R T S S
— CEECEEST e
s | w | Lok e e |ss®  |oumim |
C s oo A T T
s | & g —o eew s e |owwem |

e NG s 5 cSh 0WmiDs  Smesevecs
osw | @ S e o o ooowm

e — KRN scoriry S cS03 010 | SneSeecs
s | & Lo mmm s mw[osm |

i Josn e R MOKM Py CS co® 0TS SmoSwcs

Csi4)

Oﬁ-h-b-lm‘--.lm

[ s | ]
L Jesto) | 0 Sync Siave CS
1

4 LU [

ucture.)

After restart the
CS, you should
click below.

1)CS Status Monitor.
2)Update.
3)Start ,then Stop.

Sys

e T T e | e
T e e
T [ R
[—1ﬁ7|71=-7cs

You can confirm
these radio signal
levels were
improved to green.
Green is more than
-80dBm.

(RSSI value)

And you can
confirm the
CS9,CS22 has

Primary CS.
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1. Error!!l CS does not have Primary CS.

11th step:You can confirm all of CS has a good radio signal condition

in the Tree Structure.

tz| SIP-CS Maintenance Tool

Air Synchronization

CS Status Monitor | Maintenance |

Air Syne Group No. |1 7 Capture
interval Tmers) |5~ Stat | [ Tabe |
Current Sync Tree
Level 1 Level 2 Level 3

Level 4

Level 5

| logowt

Level & Level 7

=] © ]
(5]

=i

Level &

oS 6)
cse |
~ osew
o3(19)

| Cs24)

C522)

You can confirm
the Tree Structure
including CS9 and
CS22.
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1. Error!!! CS does not have Primary CS.

12th step:Please write down the final radio signal value (RSSI value).

Index 15 Index 3 Index 2 Index 16 Index 20
0080FOF1C729 0080FQEFDSES |pgexq ~ O0BOFOF1CT2B 00BOFOF1C758 OnOSe(;(FOFlC_:78D onoseoXFpF10792
o Index 14 Index 0080FOEFD9sL &  Idex1l {7 Index 13 -.
0080FOF1CT72A OO80FOF1C759 ., O080FOEFD962 00BOFOF1C78E % Index 18 -
. _MAC address | - - 0080F0F1C791
15 — E|| 02 5 13 \ . [20
.. < , > . -65
* — /@ o | )
o~ J@ @ | - <] @\
o (&2 ] |i|\ \77A /| @ o . J 18
. Index4 .~ .‘74 22
D08oFOF1C72D  O0BOFOEFDOSE <_. 7 _./
Index 17 \y T
0080FOF1C72C
- 0] index 12 | E
MAP of Site or Floor 0080FOEFD960 ndi 22 :
3 { 0080FOEFD976
Index 6 ; / Index 19
, 0080FOEFDY5F { O00BOFOEFD974 Index 24
Index 9 Index 10 Index 23 0080FOEFD973
0080FOF1C757 0080FOF1C755  0080FOF1C756 Index 21
0080FOEFD975
RSSI (dBm) You can confirm the
. Primary Path radio signal level was
improved after conducting
Db Secondary Path | the Tree Survey again.
CS Index
It’s useful to update Site MAP when you need to check the radio signal condition. | Finish
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2. Low radio signal level after successful of Tree Survey.

2. If you find a low radio signal level
after successful of Tree Survey.
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2. Low radio signal level after successful of Tree Survey.

From this page, we describe the case of below.
*The Tree Survey was successful. (“Execution OK” was displayed.)

But the low radio signal was found by CS Status Monitor. You can confirm a
In this case, you need to relocate the CS. Execution OK.
1ol S1P-CS Maintenance Tool =R (E=n |
*“"Wmi““’:ﬂE]I S == Tree Survey was successful.
Ar Sine Grup No. Click the Tree Survey button ® Ciogn ] [ / (All of CS has Primary CS.)
Tree Survey Jesult Tree Structure t . 5 m ‘://
Index CS Name CsiD MAC C5 Class 4 Connection S L : @
Index CS Name Index CS Name
.'019?31UED8 gsl | A few days later, you
fa Tree survey Wizard EXGCUtIOn OK 9 e found low radio signal by
soe | | CS Status Monitor.

EXECUTIONRESULT: - :5(22)
|Execution OK, l

This is arare case.

But after Tree Survey ,the
radio signal condition might
be changed by environmental
change.

lick the €S Status Monitor and click 8far In case of aradio signal level
@ without a margin, it may

- [ Stop ] [ Tree Structure ] h
appen.
Current Sync CS / =
Index C5 Name C5Class =~
RSSI Error \wired S
[4Bmi] Rate LAN & T"V Repeater i3 e

1 cs{1) Sync Master ..
s | e
Cs(18) Primary _ cs(18) 0137311308 Sync Slave CS
s Josuw | ¢ Jjex [ g Py  fcs  [esue  fowrsics |
- | 7 G Piimary lcs  [csu® 0197311080 | Sync Slave CS

lilif / : : ful
eSETEE | ST CS registration can be successful.
(It’s even low radio signal such as
Wl_ Py CS  |CS®  |019T30FBD |SmeSveCS | less than -80dBm.)
S B But Tree Survey need the radio signal
—| ROENNOKMNN Py Cs CSU9 WD SreSewCs
Symc Slave €5 level more than -80dBm.

| |
Finish saw | |
Please cick "Finish" 5(13) | E
sum) | Py
[

Notice: C5 does not have
css

{2 sIP-CS Maintenance Tool
Ajr Synchronization C5 Status Monitor{1]

Air Sync Group Mo. 1

Maintenance | ~

Interval Timer (s)

Even if CS registration

was successful, it may happen.
If it can receive the Radio signal,
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2. Low radio signal level after successful of Tree Survey.
1st step:Please check which CSis alow radio signal (Yellow).

'E sIp-CS Maintenance Tool

-

Air Synchronization Maintenance I
A Syme Group No. (1 I Click the CS Status Monitor"atid click Start. .| @ .
™ 5 - Tree Structuragel—
Ftoreed Tieer §) 0 losSma] [T (After checking the CS Status Monitor ,please click Tree Strulcture.)
Current Sync CS
T CS Name RS Error Viired cs/ CSCloes

|- - Sync Master ...

cs | cstis) 01973113C8 | Sync Slaw

018 [ aye
0197311080 Sync Slave CS

- F g :

W ' cs(13) 0197311300 | Sync Siave CS
| csi1) 0197310F70 Sync Slave CS

R T T

lililili
cs (4]

| csta) 0197310ECD
0157310ED8 Sync Slave CS

0197310EC3

W e o 0ISTI0ECE |Sme Smo SaveCS

T | r

You can find low
radio signal level.
such as Yellow:
less than -80 dBm
(RSSI value).

*CS5,6,19,23

4

If you confirm low
radio signal
condition such as
Yellow, you
should adjust

the tree structure.

© Panasonic Corporation 2013

4

Next page
26




2. Low radio signal level after successful of Tree Survey.

2nd step:Please confirm which CS is a trouble position in the Tree Structure.
(The trouble CS position that has low radio signal (Yellow).)

t2] SIP-CS Maintenance Tool

Aur Synchrenization CS Status Monitor |

Maintenance

Air Sync Group No. |1 7 Capture
interval Temer ) (5 = [ Sat |
Current Sync Tree
Level 1 Level 2 Level 3

Table

Level 4 Level 5

Q010

S0 0

CS08)
Cs09)

051 4) l\ —

O 3)
CS05)

'

=2 ich <
Logout o |lg
Level & Level 7 Level 8
You can find which
is trouble position
in the Tree.
= | Thetrouble position
that indicate
low radio signal
such as Yellow:
D506 less than -80dBm
HI\I s (RSSl value).
W= | .56 .19,23
3|
Next page
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2. Low radio signal level after successful of Tree Survey.

3rd step:Please write down the each CS radio signal value (RSSI value) on the MAP.
And confirm where is a trouble CS layout that has low radio signal level.

Index 15 Index 3 Index 2 Ind
Index 8 ndex 16 Index 20
0Q80FOF1C729 0080FQEFDSE6  |gey 1 0080F051C72‘|3 dox 11 0080FOF1C758 ~ 0080FOF1C78D 0080FQF1C792
Index 14 Index 5 0080FOEFD96L % oo ;
X 0080FOF1C72A  0080FOF1C759 . O00BOFOEFD9E2 [ ‘ndexi3 oo % Index18 :
. _MAC address | _| : 0080FOF1C791
15 67 ; —(62 o "3
" < > 65 |1
- -70 L -60
o 14 /1 ———v .
® 3 e Je o |
o "" [Low radio signal [‘
@ 1O \— BN e T
, 12
- Low radio signal ‘ 6 19

Inde;:( 7 Index 4 \. \

0080FOF1C72D OO80FOEFD95E o

: H -58
Index 17 9 o 81 e
0080FOF1C72C

MAP of Site or Floor Index12 |nde;(22 :
0080FOEFD960. C0B0F0EFDOTS |
Index6 i i Index 19
ndex' OOSOFOEFIII)%SF 10 ndex 23 0080FOEFD974 Index 24
0080FOF1C757 0080FOF1C755  O0BOFOF1C756 Index 21 0080FOEFD973
0O080FOEFD975
RSSI (dBm)
«——— Primary Path You need to adjust the Tree Structure.
€ rranananas Secondary Path 'I_'he low radio signal CS
is below.
CS Index
=CS5,6,19,23
Next page
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2. Low radio signal level after successful of Tree Survey.
4th step:Please consider about how to move the CS5,6,19,23.

Index 15 Index 3 Index 2

Index 16 Index 20
0080FOF1C729 O0BOFQEFDSE6 |qeyq  COSOFOF1C72B rra 0080FOF1C78D 0080FOF1C792
X Index 14 Index 5 00BOFOEFD961 Index 11 {7 Index 13 :
0080FOF1C72A  0080FOF1C759 s, O0BOFOEFD962 0080FOF1C78E ""- Index 18 :
. MAC address 0080FOF1C791
15 -67 —l -62 : G
5 < > 13
. =5 >® w5 LS 65 12
'-\ 14 5. A1 ’.’ '~ "'-..l .
@ ——¢@ Q\ /@ ./ \ L 62 —
.q:!:, ¢“ '70 )
|_| 11 ‘." [Low radio signal 0'. > @)
F i ;.-62 \ \ -62) @ (-65 2
] 1. / /
\ 12 81 |
[Low rad'lo S|gnal ‘\ ( 6 19 ”
._ Index 7 ndex4 . [ ; ; -
0080FOF1C72D  0080FOEFD95E B 4 70 e
Index 17 9 i @* \81 —|®
0080FOF1C72C Y
10 23 :
MAP of Site or Floor i Index 12 ' ndix 22 :
/ | oosoFoEFDos0. _ . 00BOFOEFDO76
Tndex 6 : i Index 19
0080FOEFDY5F * i 0080FOEFD974 Index 24
Index 9 Index 10 Index 23 0080FOEFD973
0080FOF1C757 0080FOF1C755  0080OFOF1C756 Index 21
0080FOEFD975
RSSI (dBm) Please consider If you move the CS5,6,19,
-— Prlmary Path about how to move ég,tpleasi ble careful the
istance below.
the CS5,6,19,23.
@rrunnsnannas
Secondary Path . CS5-from CS7
CS Index Example) « — — -CS6:from CS10,11
*CS19:from CS21,22
Next page
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2. Low radio signal level after successful of Tree Survey.
5th step:Please move the CS5,6,19,23.

Index 15 Index 3 Index 2

Index 8 Index 16 Index 20
0080FOF1C729 0080FQEFDBE6  |qex 1 0080F051C72‘|3 tox 11 0080FOF1C758 OO80FOF1C78D 0080FQF1C792
f Index 14 Index 5 0080FOEFD961 naex
X 0080FOF1C72A  0080FOFLC759 ,, O0BOFOEFD962  /  Indexl1s . % jngex1s
MAC address | —| ; % 0080FOF1C791}
4 1 2 ; }
15 - o -62 o o T ~. %0
-' > -65
| - . .
o 14 60— . : :
E I: 11
0 ]
17
Inde;(7 Index4 .~
0080F0OF1C72D OO8OFOEFD95E _.
Index 17 9 PS
0080FOF1C72C
10 :
MAP of Site or Floor T Index 12 L g 2
;| OOBOFOEFD960 . 008BOFOEFDY76 ;
Index 6 / Index 19
; 0080FOEFDY5F * / O00BOFOEFD974 Index 24 °
Index 9 Index 10 Index 23 0080FOEFD973
0080FOF1C757 0080FOF1C755  0080FOF1C756 Index 21
0080FOEFD975
RSSI (dBm)
«——— Primary Path
<rrnnnnnnnnns
Secondary Path
CS Index
Next page
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2. Low radio signal level after successful of Tree Survey.

6th step:Please confirm the radio signal condition of CS5,6,19,23 was |mproved to green.

Status
e — - [ewe )[2](8]
e Q 9% | [ Tree Smoneeti—— (atter checking the CS Status Monitor ,please click Tree Str
. 3. | 3 | Current Syne CS s o
Index MName -
izl e e CSType D CS Name csio
1 ]osty : - - Sync Master ...

| Sync Siave CS

01573113C8

0197311080
0157311300

0157310FE0

mmcs
!—I_—l—|>
e

0197310EC0

0197310EDS Sync Slave CS

0197311300

l—lililili

T T

I—m__ OISTH0ECE | Sync Save CS

m 3

Sync Slave C5

I

m

ucture.)

After move these
CSs, you should
click below.

1)CS Status Monitor.
2)Update.
3)Start ,then Stop.

4

You can confirm
these radio signal
levels were
improved to green.
(CS5,6,19,23)

Green is more than
-80 dBm
(RSSI value).
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2. Low radio signal level after successful of Tree Survey.
7th step:Please confirm the radio signal condition of CS5,6,19,23 in the Tree Structure.

t2.] SIP-CS Maintenance Tool

Air Synchronization CS Status Monitor | Maintenance

Air Sync Group Mo |1 ™) Capture
iteval Tmers) (5 »| [ st |
Current Sync Tree
Level 1 Level 2 Level 3

Table

CSo

Level 4

DS

T [\ —

© Panasonic Corporation 2013

= & )
Logout 2|l &
Level 5 Level & Level 7 Level 8
You can confirm
these radio signal
: levels were
improved to green.
(CS5,6,19,23)
OS] 30
oo N Green is more than
CSi8) L -80dBm.
Cseed)
— N (RSSI value)
! l CE02d)
|
' @
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2. Low radio signal level after successful of Tree Survey.

8th step:Please write down the final radio signal value (RSSI value).

Index 15 Index 3 Index 2

Index 16 Index 20
0080FOF1C729 0080FQEFDSE6 | gex 1 0080F051C72‘|3 il e 0n08€(;(FOF1C78D onoseoXFoFlc792
Index 14 Index 5 : _ ngex '
X 00BOFOFICT2A  QUBOFOF1C759 4, OOSOROEFDSSL % oos0FOEFDOE2 dex 13 c7eE  Indexis
MAC address | - - 0080F0F1C791
15 / Tl -62 ; ' ' 20
; @ 5 . I >@® 60 8 -65 13
O Lu T e I
o«—o"’ /6?2( o | 62
7 11 “‘ ._
- _ 2 N,
S -62 D |_|\ -62) @ (-65 J 18
19
0 -\ . b @)
6 24
Index 4 \" —) "
ndex4 . - ‘ i
e - 1c72D  O0BOFOEFDISE B o™\ (@3 -77 Q
Index 17 o ® — @
0080FOF1C72C B 7
10 a7 ; ;
MAP of Site or Floor T Index 12 Indix 22 :
008OFOEFD960 008OFOEFDO76
Index 6 ] / Index 19
‘ 0080FOEFDOSF * ‘' 0080FOEFD974 Index 24
Index 9 Index 10 Index 23 0080FOEFD973
0080FOF1C757 0080FOF1C755  0080FOF1C756 Index 21
0080FOEFD975
RSSI (dBm) You can confirm these
— Primary Path radio signal levels were
improved after moving
S Secondary Path | these CSs.
(CS5,6,19,23)
CS Index
It’s useful to update Site MAP when you need to check the radio signal condition. | Finish
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